

How inviting is your breakroom?



Only 58% of employees are satisfied with their office's breakroom.*



76% of employees say a nice breakroom encourages getting to know co-workers.*

*GP PRO Proprietary Research: PRO-19-2079



Dixie® Breakroom Collection

BREAKROOM









DIXIE® PLATES AND BOWLS

A Full Family of Sturdy, Versatile Plates and Bowls

For snacks or lunchtime in the breakroom, quality plates and bowls just make it right. Whether you're upgrading from foam or moving away from permanent-ware, our heavy- and medium-weight plates and bowls can handle whatever employees can dish out.

Why Dixie® Plates & Bowls?



(b) (55)



PROOF

DURABLE

MICROWAVEABLE



CUT RESISTANT

Z K

SPACE EFFICIENT







Plates and Bowls in White, Custom Print and Pathways® Designs

¹Georgia-Pacific Proprietary Research (ID# 2023-206A)

²Technomic: Foodservice Disposable Packaging Multi Report, 2018







DIXIE® PERFECTOUCH® PAPER HOT CUPS Quite Possibly the Most Beloved Hot Cup Ever

For over two decades now, Dixie® PerfecTouch® paper hot cups remain a clear favorite. You'll immediately notice the cup's soft exterior, and it never needs a cup sleeve since it's insulated with air bubbles. Plus, it's polystyrene foam free, which customers appreciate and remember. There's nothing quite like enjoying a hot drink in a PerfecTouch® cup.

A Hot Cup Like No Other

















5 Cup Sizes + Lids That Fit Multiple Cups







'Average of 45% reduction in stack height based on testing comparing PerfecTouch* cup in 12, 16, 20 and 24 oz. sizes to polystyrene foam cups in the same sizes. 2On "overall appeal," consumers significantly prefer Dixie* PerfecTouch* Hot Cups to polystyrene foam cups. (GP Proprietary Research: CUP-18-052) ³Polypropylene lids are a potential alternative in communities where polystyrene products are discouraged or restricted (check your local ordinances).









One-at-a-Time Dispensing So You Only Touch What You Need

Napkins can make a powerful impact on the breakroom experience. Our Tower and Tabletop Interfold dispensers not only look sleek, they're engineered to dispense premium 2-ply napkins one at a time—which can cut waste by 29%. And these closed systems can be more hygienic than open environments where patrons may touch multiple napkins.

Why Interfold Napkins?



DISPENSING









SLEEK, CLOSED DISPENSER DESIGNS



















2 **OUT OF 3**

2 out of 3 customers say it's important that their napkin not be touched by anyone else.²

Environmental Certifications: 2-Ply Interfold Napkins

 1 When switching from a full-fold napkin to the Dixie Ultra two-ply Interfold napkin and dispensing system. 2 GP PRO Proprietary Research: NAP-20-4411













Scan QR Code for Video



DIXIE ULTRA® SMARTSTOCK® CUTLERY SYSTEMS

Touchless, Hygienic Dispensing Because Nobody Wants Others Touching Their Cutlery

It's unsettling to see grabbing hands in open cutlery bins. Fortunately, touchless SmartStock® Cutlery Systems can help you minimize contamination with cutlery dispensed one at a time. So, breakroom patrons only touch what they need. This efficient technology can also help reduce cutlery usage up to 31%.

Why SmartStock® Cutlery Systems?



HYGIENIC, TOUCHLESS SYSTEMS



ONE-AT-A-TIME DISPENSING

EASY LOADING &

MAINTENANCE



RELIABLE TECHNOLOGY, SMALL FOOTPRINT



AVAILABLE IN MULTIPLE SUBSTRATES



CONTROLLED DISPENSING HELPS REDUCE USAGE & WASTE



CUSTOMIZABLI DISPENSER INSERTS







SmartStock® Wrapped Cutlery System:

Put the Wrap on Cross Contamination

60% 60% Less Wrap than Fully Wrapped Cutlery.³

SmartStock® Tri-Tower Cutlery Station: High Capacity Meets Touchless Technology

A comparison of SmartStock* Tri-Tower Cutlery Station to open cutlery bins. Independent research commissioned by Georgia-Pacific: CUT-19-2024 PRO Proprietary Research: PRO-20-4515

³NTC Lab Testing





Plates and Bowls: Dixie Ultra®, Dixie® and Dixie Basic®

SKU	Product Desc	ription	Item Type	Size	Case Pack	Count	Design
Plates and Bowls							
SXP10PATH		10%€" Heavy-Weight Paper Plates	Plate	10½6″	4	125	Pathways*
SXP9PATH		8½" Heavy-Weight Paper Plates	Plate	81/2"	4	125	Pathways®
SX20PATH		20oz Heavy-Weight Paper Bowls	Bowl	20oz	4	125	Pathways*
SXP9W	Dixie Ultra*	8½" Heavy-Weight Paper Plates	Plate	81/2"	4	125	White
SX12PATH		12oz Heavy-Weight Paper Bowls	Bowl	12oz	8	125	Pathways®
SXB12W		12oz Heavy-Weight Paper Bowls	Bowl	12oz	8	125	White
SXB12WS		12oz Heavy-Weight Paper Bowls	Bowl	12oz	4	125	Pathways®
UX7WS	Dixie*	67/8" Medium-Weight Paper Plates	Plate	61/8"	4	125	Pathways®
UX9PATH		8½" Medium-Weight Paper Plates	Plate	8½"	8	125	Pathways®
UX9P300		8½" Medium-Weight Paper Plates	Plate	8½"	6	50	Pathways®
UX7PATH		67/8" Medium-Weight Paper Plates	Plate	6%"	8	125	Pathways [®]
UX9WS		8½" Medium-Weight Paper Plates	Plate	8½"	4	125	Pathways®
UXB12WS		12oz Medium-Weight Paper Bowls	Bowl	12oz	4	125	White
DBP09W	Dixie Basic®	8½" Light-Weight Paper Plates	Plate	81/2"	4	125	White

Dixie® PerfecTouch® Paper Hot Cups and Lids

SKU	Size	Color	Compatible Lid SKU	Count/Sleeve	Total Count		
8 oz							
5338CD	8oz	Coffee Haze	D9538	20/50	1000		
5338DX	80Z	Coffee Haze	D9538	20/25	500		
10 oz							
5310DX		Coffee Haze	DOS 40, DOS 40D	20/25	500		
5310COMBO600	10oz	Coffee Haze	D9542, D9542B	300 cups, 300 lids	600		
12 oz							
5342CD		Coffee Haze	D9542, D9542B	20/50	1000		
5342DX	12oz	Coffee Haze		20/25	500		
5342CDSBP		Coffee Haze		6/160	960		
5342COMBO600		Coffee Haze		300 cups, 300 lids	600		
16 oz							
5356CD		Coffee Haze	DOT 40 DOT 40D	20/50	1000		
5356DX	16oz	Coffee Haze	D9542, D9542B	20/25	500		







Dixie Ultra® Interfold Napkin Dispensers + Refills

SKU	Name	Options	Quantity			
Napkin Dispensers and Refills						
54550A	Dixie Ultra* Tower Interfold Napkin Dispenser	Black	1 Each			
54527A	Dixie Ultra* Tabletop Interfold Napkin Dispenser	Black	1 Each			
54510A	Dixie Ultra* Countertop Interfold Napkin Dispenser	Black	1 Each			
32006	Dixie Ultra* Interfold 2-Ply Napkin Refill	White	24 @ 1, 6000			
32019	Dixie Ultra* Interfold 2-Ply Napkin Refill	Brown	24 @ 1, 6000			

Dixie Ultra® SmartStock® Cutlery Systems + Refills

SKU	Dixie Ultra* SmartStock* Product	Substrate	Series	Options	Quantity	
Tri-Tower Cutle	ry Station					
DUSSTDSP3	Tri-Tower Cutlery Dispenser	NA	Series-T	Black	1 Dispenser @ 390 Capacity	
Tri-Tower Cutle	ry Refills					
DUSSF5	Fork Refill					
DUSSK5	Knife Refill	POLYSTYRENE				
DUSST5	Teaspoon Refill	Great rigidity and strength				
DUSSS5	Soup Spoon Refill	•		Disale		
DUSSPF5	Fork Refill			Black		
DUSSPK5	Knife Refill	POLYPROPYLENE	Caria T		24 Refills @ 40 Count	
DUSSPT5	Teaspoon Refill	Break resistant	Series-T		(960 Count)	
DUSSPS5	Soup Spoon Refill					
DUSSCF7	Fork Refill			Natural		
DUSSCK7	Knife Refill	COMPOSTABLE* Performance similiar to polystyrene				
DUSSCT7	Teaspoon Refill					
SKU	Dixie Ultra* SmartStock* Product	Substrate	Series	Options	Quantity	
Wrapped Cutle	ry System					
SSW3D85	Wrapped Cutlery System: 3 Dispenser Pack	NA	Series-W	Black	3 Dispenser PACK @ 255 Capacity	
Wrapped Cutlery Refills						
SSWPF5	Fork Refill					
SSWPK5	Knife Refill	POLYPROPYLENE	Series-W	Black	24 Refills @ 40 Count	
SSWPT5	Teaspoon Refill	Break resistant	Series-VV	DIACK	(960 Count)	
SSWPS5	Soup Spoon Refill					

^{*}Compostable cutlery for Tri-Tower Cutlery Station: BPI certified as compostable in commercial composting facilities. Check locally, as such facilities may not exist in your area. Not suitable for backyard composting.



